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1. MEVERE
B4 TE 4> 13,267,092 6,100,869 7,166,223
PN 13,060 13,060 0
AL 4 0 153,000 | & 153,000
SRS 35,200 0 35,200
P e i 196,900 492,250 | & 295,350
TRENE FEEA G 13,512,252 6,759,179 6,753,073
2. BETEE
(1) FEARRMEE
HARMER G 0 0 0
(2) BHEBPE
¥ EEEARGT 0 0 0
(3) ZofhE e & PE
R 320,920 465,622 | & 144,702
VT =T 1,152,900 1,581,120 | & 428,220
Z O [E EEES R 1,473,820 2,046,742 | » 572,922
& & P AR 1,473,820 2,046,742 | & 572,922
BrEEART 14,986,072 8,805,921 6,180,151
0 AEOH
1. FEhalk
REAE 313,424 0 313,424
FHY 4 5,993 25,621 | & 19,628
Rl N 300 300 0
ARFLIE NFi % 70,000 70,000 0
RENEE AT 389,717 95,921 293,796
2. ETAE
EHEAEAF 0 0 0
AEAFT 389,717 95,921 293,796
M IEMRBARE D
1. $REERME
FBE EWRME AT 0 0 0
2. —MXIEEIPE
(2) D —fFIEBER PE 14,596,355 8,710,000 5,886,355
— i TE R PE 14,596,355 8,710,000 5,886,355
EMRMEER G 14,596,355 8,710,000 5,886,355
E it e OE MR PES B 14,986,072 8,805,921 6,180,151




